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1) What is thg pH anilpoH of a 1.2 x 10" M HBr solution?
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2)  Whatis z}e pH anc&pOHﬁo”f a 2.34 x 10° M NaOH solution?
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3) Fillin the following table

Solution pH=5.5 pH=9.9 pH=6.6 pH=1 pH=7 .4
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4)  Whatisthe [H]of a 23 pHsolution?  srén o™  yo= 973 ;—@

Is this acidic or basic? el ¢
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If the pH increases is it becoming more acidic or alkaline? (Wﬂ&mj-)

5) What is the pH and pOH of a solution made by adding water to 15 grams of hydroiodic acid (# 1)
until the volume of the solution is 2500 mL?
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6) What is the pH and pOH of a solution that was made by adding 400 mL 'ﬁater to 350 m of
5:0x-10° M NaOH solution? /m%/ 7 e /(’3? [0.,00*83) - ﬂ‘z’@
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' 7) Calculate the molar cgnce tration and the pH of a 12 L solution that contains 1 mole of

hydrochloric acid. W<y
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8)  How many grams of HC! are needed to make 2 L of 6 M HCI? (molar mass = 36.46 g} What
is the pH of this solution?

24w bl el 3e9e g o (7344 He
7L ;T

!'no(
__—""""ﬂ-——-_

ph i (0] (=8 40)

9) How many grams of NaOH are needed fo make 1.5 L of 2 M NaOH?

(molar mass = 40.00 g). What is the pH of this solution? Is it acidic or alkalfge? 5
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10)  What is the pH and pOH of a solution with a volume of 5.4 L that contains 15 grams of
hydrochloric acid and 25 grams of nitric acid? [ W AN GV N A Ut
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11} A swimming pool has a volume of one million liters. How manyg Clwould 1

be added to that swimming pool to bring the pH down from 7 to 4? (Assume the volume of
the HCl is negligible)
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